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H1; 2,3 or 4) on the Dplical:Angwer Sheet.

3

—

P =

Lay eggs on fand | Lay eggs in.water i

a7 eggs on land | Lay eggs in water

[ K ety

Cockroach Draé‘oﬁij J I,B:utterﬂy Mosquito

Which one of the following pairs: of sub-headings best represents P and Q
respectively? - - o o T ; S

(¥ |Lay'eggs on land : | Lay eggs in water .

(2) | Has two body parts -7 | Has three body parts

(3) |Has a 3-stagelifecycle - = ° Has a4-stage life cycle -

(4) | Young resembles adult ' - | Young does.not-resemble adult

2. The ‘diagrar-n below shows the stages of growth of a plant.

" Adult plant

‘Seed‘\

C

Fruit

At which____stages do the processes of germinati’on-; and fertilisation occur?

Germination T Fertilisation ]
M [ ' |
@ [
3)
4)

o> mo
w O >
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e 1 to 30, four Ogﬁt_iﬁﬁfffl 34 jah. One of them is the comect answer. -




'3.

The dlagram below shows the human digestive system. At which part of the human

drgéetlve §stem would: dlgestlon of food be bomple‘led? :

4.
parts of a plant.

Fruit

{1

. I-.-’

(2

{3)

e

The dlagram below shows how sugar and water are transported to and from different

Legend: .
sugar TTTTCC >
----- water —_—

Whlch one of the following correctly shows the parts of the plant that are represented

by P, Q and R? .

P Q . R
) stem leaves . foots
) rools stem leaves
Q) roots leaves stém
L leaves roots stem
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' 5. . The diagram below fepresentstheihemian circulatonyisystem: The arowsepresent
bloed vessels carrying blood to and from the head, h_.mg‘s, heartand legs.. . .

1 tiepd J+

R )
L : A R

lungs

héartt ——

- legs

“Which one of the followmg correct!y matches the amount of oxygen-in-the blood’ with
the blood vessels that are carrying. lt'?

Moré oxygen in the blood Less oxygen in the blood
€)) Jand K : Land M
(2) ' Jand M "Kand L
@ KandM- - - % ~Jand L. 1
4) Kand L JandM - - . i
6. A group of researchers used cells from an animal and a plant, as shown in the S
diagrams below, to study the mformatson that can be passed on from the parents to
their offsprings.
Plant Celi - Animal Cell
Which parts of the animal and plant cells should the researchers focus on for their
research?
(1) AandEonly
(2) Band Gonly
(3 CandFonly
(4) DandF only
CHS/SCUPS/Prelim2/2011




. 7. Thedisgranibslow:shows a'crosssectioniohaiflower. -

1.

On which part of the flower must the 'pollen grain land in order for pbilination to take

_'Ip_laé,e?. |
@ W
@ X
()
@ Z

8. The diagram below shows Ryan’s family tree.

Molly

James

~O

O

E

[

Lisa

" Ryan

OO

Jan June

Based on the diagram above, which of the following statement_s is/are true?

A Lisa and Ryan are cousins.

B Molly has three grandsons.

C June has 3 aunts altogether.

D  James and Hibee are siblings.

(1) Bonly

(2) AandBonly

(3) CandDonly .

4 ABandCandD
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9. Arf conducted an expenmenhtmﬁnd ouf: howdjﬁe[entdlght(mtensmes affect the rate '
of photosynthesis of a plant; He repeated the experiment with lamps of similar bulbs
placed at different dn@ances from_the beaker. An example of the set-up is'shown in

the didgram below.

-~

inverted funnel!

test tube

beaker

© water

aquatic plant

P

" - He left the various set—ups in a Science lab for 24 hours and recorded the he;ght of
~ the column of air oollected in the test tube in a table as shown below.

Test tube in set up Hesght of the column of air in test tube /cm
I A - 3.0
- B 0.5
C . 1.6
D 24

Which one of the following shows the cortect order of the set-ups accordmg to the
distance between the light source and the beaker starting with the: closest‘7

(1) A/D,C, B
2 AD,B,C
{3y B,C,HbA.
4y - C,D,A,B
10. The classification table betow shows how some organisms are classified.
- Ofganisms' ]
|
Group 1
Yeast
Amoeba
The organisms in the table above are claes‘iﬁed according to
(1) their habitats
(2) the way they move
(3) their body covering
(4) the way they reproduce
CHS/SCUP6/Prelim2/2011



' Use the mfonnatromprovrded belowdosanSWer QUestlons11 rand?lz Coe ~

‘Jasmme collected four beakers of Watei from four diffrerit pond‘s“E F ‘G#nd H. Usmg the N

set—up below, she measured the amount of hght that passed through: each beaker of water
using a light sensor.

—

P

— ——— .
——_— — S

beaker . - . . light sensor
of water ' v

/!\7

torch

_ She then plotted a graph as shown below based on the amount of light recorded by the
light sensor.

Amaunt of light = T
recorded by the
light sensor /
unit

E F G H Ponds

11.  Which pond would be the mos’( suitable for totally submerged plants to thrive in?

(1) PondE -
(2) PondF '
(3) PondG '
(4) PondH

12.  Which one of the foﬂowmg shows the correct order of the clarity of water in ponds E,
F, G and H in ascendipg order?

(1) PondsH, E,G,F
(2) PondsH,G,EF
(3) PondsF, G EH
(4 PondsF,E G H

CHS/SCI/P6/Prelim2/2011
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How mar.i'y'r i‘ood chains make up-@hg‘fféod web above?

The diagram béldwshows afood Web:among:several-organisms.

-

1 5
2 ¢6
- 3) 7
(4) '8
14. The table below provides some information on three different types of orgamsms K :
L and M.
Organism Information 1
K - Has a weak stem
- Birds help to pollinate its flowers
L - Walks on sand
- breathes both on land and in water
M ~'Feeds on small animals
- Hunts only at night
Which one of the following shows the correct adaptations of organisms, K, L and M?
. Organism K . Organism L Organism M
1N |- Has tendrils . -Has thin, pointed legs | - Has sharp claws
- Presence of nectar - Presence of gills and - Has good night vision
, gill chamber : ' ' '
2 |- Has tendn'ls . - Has padded feet - Has a curved beak
" | - Absence of nectar - Presence of lungs - Has good night vision
(3) [-Hasthommsonstem |- Has thin, pointed legs | - Has.sharp claws
- Has brightly coloured | - Has moist skin - Has streamlined body
-1_flowers : o o
_{4) |- Has clasping roots - Has padded feet - Has'a curved beak
- Has dull-coloured - Presence of lungs - Has hollow bones
flowers
|
CHSJISCUPEIPrelim2/201 1



!i_

15.;. The-diagrams bélowshowthe: different types of beaks and feet that blrds have to -
~ help them suane m dufferent‘enwronmentS\ g

Which one of the following beaks and feet is correctly matched to the diet of the bird

and the type of habitat where it i is found?

Type of food the

IR

CHS/SCUP6/Prelim2/2011

Beak Foot Habitat
bird eats N
A E Fruit Aquatic
B D Grains Land
C F . Nectar Land
| B F _Meat Aquatic |




16.: -Susanconductéd: severattésts ondnateridls A; B CGand D She recorded:lier results

in the table below. A tick (¥) indicates the presenee ofthe propertyand a (X)
indicates the absence of the property. -

: Materials
Property o _
— A. |*B..J C- D
Is it fiexible? eael. X o X —
Does it break easily when dropp ?‘* 2 R "X+ X | X
Is it waterproof? % 7 | X

Which material bests representsthe swimming cap that Susan uses to keep her hair

dry?
(n A
2 B
(3 C-
4 D

17.  Ali hung an iron ball from the ceiling.. H laced a thin sheet: of material as shown in
the dlagram helow. He then broughf ar ng magnet closeto’ the material without..

touching'it.
ceiling -
thin sheet of matenal
iron ball

He observed what happened and recorded his observations'in the table below.
“He repeated the ‘experiment with-another material and recorded his observations.

~ Material - {ron ball moved
A No -
B Yes

Based on his observations, what is-Material A most likely to be?

(1) glass
(2) copper
(3) cobalt

(4) aluminium

CHS/SCUP&/Prefim2/2011 g
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' 18~ ‘[her‘d’lagm's"below shdwthree,dtsm ~each with: a«holethe centre:- Twaof the:

- discs are magnets and oneis a 1|ght p[ast:c dls“c Ai! three dssesroould -pas$ through
the rod of the wooden stand '

| ~

Magnets Plastic disc [

Rod .

Wooden stand

When the 3 dtscs are slotted through the rod, which of the followmg observattons of

- the discs would notbe a possxble arrangement’? (only: the side view of dlSCS and
stand are shown. ) .

&4 AandBonly

@) AandDonly -

(3y BandConly

4y CandDonly
CHS/SCUPE/Pretim2/2011 s
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©A9s  Samfilled Cohtamer A'wulzuwatereto thebric: He: then peuredaildhe water from::
@entdinev AdhtdContaihér Bawithout spilling: -

Container A ) Contamer B

Which one of the fol!owmg statements is falséf}

(1) The mass of the water has changed in Container B.

- (2) -The shape of thie water has changed in Container B. - ,
(3) The watér lével iri Contaitier8is different from the Water level i in Contamer Al
(4) . The volume of water in Container B is the same as. the volumie of Container A

20. The dia’grarﬁ below represents the water cycle. |

Cl&ﬁi,ﬁ}},?

clouds lllllll 1!

/{ HHHHHE
\ C’[ mil{t,u

land |[|]|1‘;L

j_ ::e —““r"r”ijlt——

Which one of the following is correct?

Statée of matter

A B : C
@ Gas Liquid Gas . |
@ Solid biguid - - |- - Gas
) Liquid --Gas : Liquid
) Liquid - . Liquid ~ Gas |
CHSISCIPE/Prelini2/2011
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S 21 The"charf below shows the prapemw of: some: matter

:_. }, H-

Matter at roon tefriperature

‘Cannot be compressed Can be compressed

' Has a definite shape  Has no definite shape

Conductor of électricity ~ Insulator of electricity .

Some marbles of total volume 100cm were placed into a-1 -htre bottle.. The bottle
contains 700cm” of Substgp_cg D (as described in tbeinfognatxon above) and i 200em>-
of Substance B was poured.in. if another 160cm? of. Substance. D'is added to the
bottle, what is the volume. ofSuﬁ'Ence D in the bottte now?

(1) 700cm®
(2) 750cm®
(3) '800cm®
4) 850cm®

CHS/SCUP6/Prelim2/2011 12



..22. . David used a powerfuhtorelr: to.shing atdn object:as shown below.iHe medsured the
_size of the object s shadow for different. dtstances between the object and the retort

stand

. powerful toreh

retort
stand

ruler

thch one of the following shows a poss1ble aim of the expenment and the variables

which should be kept constant?

(A tick (v) mdicates fhat the vatiable-is kep¢ constant )

- -

Aim of expériment

Position of
t_orch

Height of object

Distance
between the
object and light
source

How does the angle of the
torch affect thee size‘of the-
~object’s shadow? " :

v

-How doés the-angle of torch
affect the hetght of the
object?

How does the hexght of the
object affect the size of the
object's shadow?

5 B @3

How does the distance of
object from the light source
affect the size of the
object's shadow? ™

CHS/SCYP6e/Prelim2/2011
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"2577 The diagram below shows 8 tiles With'différanit surfaces Alan warits fofindéut

b A AN PN N AT
A AN AN, W\.‘\pr

3

AT A A

L whethg}r th(g size and texture of the tile affécts the amount of heat that is ‘absorbed.

Setup A ! SetupB _'Setup.C ~ SetugD
black and rough '_‘blgck and rough  white and smooth white and 'fou‘gh

(3

Set-up G . " Setug H

(S R

F

" Setup : . A L
black and smooth ~ Plack and smooth  -white and reugh white.and sriooth

- SetupE

Which set-ups should he use to conduct a fair test?
. "fg Set-ups A, D, E and H
Set-tips B, C,Fand G

(3] SetupsC,E,FandH
Ay SetupsC,D,GandH

24.  Sharon conducted an experiment as shown below.

. i st
| p '
1 ¢ R .

B2

o
s | oy

Which of the following switches should Sharon close so that only 2 bulbs will light
up?

(1) S1/s4
(2) S1/S3
(3) S2/S4
(4) S1/S2/S3

CHS/SCUP6/Prelim2/2011 14



28, wiDenhisicannected:a circyit as shownbelow: < -7 . . p o

IP.

[*%

-~ F ’ . A IR -
L__'./_, LI ‘“.'.hght sensor

. When the swrtch was closed, Dennis measured the bnghtness of the balb
“with' a light sensor and datalogger. He then added’ batteries one by- ﬂne in
sefies to the circuit'and: 'epeated~hss_exp__nment HlS measurements were

.Number of batteries - Brightnésé of bulb lunits_ :
, . 70 | .
125
160
230
0

| DIWINT-

What observation could be made about the bulb when 5 battenes were
used? .

(1) The bujb fused.

(2) The bulb glowed dimmer.

(3) The bulb glowed brighter.

(4) The bulb remained the same.,

CHS/SCIP6/Prelim2/2011 15
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o 26 Thé diagram Shows an e!ectnc kettle»of botlmg wateﬁ. lts spout ;s placed under a .
r_ ' paper cup with cut-out vanesy” ¢ v -

vy TR

papér ciip.with
cut-out vanes

_retort stand

electric kettle |
' IS

‘ Whlch one of the followmg shows the energy. conversnons that allows the paper cup

to spm‘?

- (@) electricalenergy ——> klnetgc energy ——> heat and kmetlc energy
42) electrical energy ——— ‘heateneérgy’ ———>"sound and kineticenergy
{3} electrical energy — heat energy ———% klnetlc energy — s .

kinetic energy
) electrical energy — kmetxc energy —~—> heat energy ————>
) kinetic energy

27. 4 girs of dlfferent weights stood on dlvmg platforms of dlfferent heights-as shown
 below. .

Susan(35kg) Daisy (20kg) | Helen(20kg) ~ Tanny (25kg)

P Q R ' S

. Amange the gravitational potential energy possessed by the girls in ascending order.

() P,S QR
2 R QS,P
@k QRSP
4 S,P,QR

CHSISCUP6/Prelim2/201 1 . 16



28 4 pupilsiteleased a palt-at: Poth as.shown in.the dtagram below.‘ lt rolleﬁ dowmt?{'&1

slope

moved along the floor and stopped at PointZ:

b

carpeted flooring

The 4 puplls made the fol!owmg concluénons

David:
~Ravi-:

Sue "

Kim :

At Pomts X and Y the nrarbie only has kinetic energy

The ball has the greatest amount of gravsta’aonal potential energy at
Point W.

The ball would have rolled further if the expenment had been. done ona
marbled floor.

The marbte would have rolled faster if the angle of mc!matxon had been
larger :

Who has made a correct conclusmn'? :

~———

(1) Ravi and Sue only

(2) David and Ravi only

(3). Ravi, Sue and Kim only

(4) David, Sue and Kim only
CHS/SCUPE/Prelim2/2011
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: 2‘9 m:sied to:deteming: how mucﬁa spnng extends wherrdnfferent ebjeéts aw’e’
E ptaoed intheipan-as shown below: i - e 5 ST
(N '%\:' X e
spring
retort sténd _
pan
b The bar graph sh_ow;%'the results she_bbt_aih_éd. :
. 10—
“£ g ] i ]
> 8
£ 7
a 6
DY 5 N - - -
4
@ 31
2
X 1 4
W .
Books  400g weight Pebbles Marbles Keys
Which one of the objects weighs about 800g?
)] keys
(2) books
(3) pebbles .
(4). marbles ’
CHS/SCUPE/Prelim2/2011



- 30: . Joshua wl'l‘e&édrsoihf@afmpjgs;ﬁB;a_n:c,l' €.:He prepared.the set-up belowsand
poured 300mi of water onto each soil sample.duringthe-expedment: =~

funnel - soil

“T cotidi ool

: o measuring cylinder
water, E R '

He recorded his findings in the table as shown beloW, -

Soil samplé. 1 _Time taken for first drop of tixﬁ;ggﬁtiéglwatér in cylinder
| water to fall into cylinder / s after 20 minutes / ml
oA s L 200
B.. | 27 S IR
- c _ 17 . 100

‘Based on the data given above, which one of the following correctly describes the
- type of soil sample?

Soil sample A | Soil sample B Soil sample C
(1) “Sandy Clayey Garden
2) Sandy _Garden |.  Clayey .
(3) Clayey Sandy ‘Garden
4 | Garden Sandy ___Clayey

CHS/SCUPE/Prelim2/2011 ! 19
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Section B: Open-ended Questions (40 marks)

Read the foilowin,g questions carefully and vg)rite your answers in the space
provided. The maximum marks that can be awarded are shown at the end of
each question or part-question.

31.  The diagram below showsizistiawterry plant.

Q
LW /"’D-‘ip
(a) Based on the diagram only, state a function of part P. , {11
¥« (b) 1t is-observed that some small msects and b;rds feed on Part Q, Based
on the diagram only, state one chamctensﬂc"‘f?ﬁft’(i that enables it
to attract. such animals. {1

20




32: . _Richard{eft three similar p@ts:of s2of plantsin.ar darhoom fortwo: days
‘where-he watered_ themﬂa:iy He then placed the pots-of plants in”
three set-ups under the sun in the garden as shown below. -

Setup X - :
_ belijar
-plant™ :
clear plasticbag - RS o air tight seat
tied around the pot — § | 1/ Ii. /
of plant S Y

chemtml that qﬁsorbs oxygen

———

Set-up Y
betl jay
_plant
glea_rb plastic bég 1 . ¥ ¥ - . air tight séal
tied around the pot ~ {1 37" _ r -
of plant < E

chemical that releases carbon dioxide

Set'-ug Z
/g l\

bel jar
plant 1
clear plasticbag - air tight seal
tied around the pot ™

of plant

chemical that absorbs carbon dnoxzde

- ——

21



Six:hoursdater; he; remoyed-'a_: leaf each fromithe set-ups X, ‘_(,gad.Z:ami
{abelled.them as X;°Y and .Z. Hé then conducted :a:starchrieston each of

(a) What would be the observations of the lodine solution when applied to
the leaves removed from the set-ups X, Y and Z respectively? (1]

. ‘Leaves fromrset-up } Observatigns of ledine solution on the leaves

- x o

Y

Z

(b) Why did Richard wrap a p!astié bag around the pots of plant? {1

22




Lo 233,

(a)

(b)

(c)

Three plants;:Q, R and S;were planted ona piece of lapd‘as shown in
-Diagram %:!Diagram 2 shows:the same piece of dand-adew years later.

Diagram1 SRR Diagram 2

-Based on the mformatlon prowded in the dtagrams state the methods
of dispersal of frultslseeds of plants Q and R in which they were most

hkely to be dlspersed - L . 1]
} 'Plaﬁf'e.i_:_- }‘
PlantR:

The diagram below shows the fruit of plant S which is dispersed by .
wind.

Based only on thed ‘_'_\'I-'"."'_"‘?"{identify the feature that enables it to he
dispersed by wind. ' [1]

Explain how the feature that you had identified in (b) enables it to be
dispersed by wind. {1}

23




34, . --A.group of:students-used -a p_otometer fo measure the rate of water
. uptake of a cut stém.of a:plantwhich indi 5.thé amount of water or jost
through the Stomata of the leaves.

e e — T

plarit cutting"-‘

: alr—tlght , . Calibrated
" seal + pipette

Waterﬁ'f%fléd'tﬁxbe TR

o Potometer
They set up four similar potometers as shéwn in the dlagram above.
The amount of water loss ineacn potom\ter was measured atevery 3

“minutes for a penoa 6F 30 minttes. At the end of the expenment they
cuf a teaf from the cut stem and estimated the-surrace area of theteaf

by placing the teaf on a Tem grld’ paper as~—shown betow 1 the
diagram.

1 square = 1emi’

24



(a)

(b)

They-recorded the fesuits from:the experiment:in thetable below: -

T

.....

Set up | Total loss of water. | Leaf surface area/ Rate of
/ml m? water loss/
A o715 . @ 020 75
B 0 0 . D18 6.25
.C. 20:12 5
D 7 0.10 2
What is the relationship between the surface area of the leaf e

rate of water loss?

U

In adesett, plan*ts usiially havedeavesof small: surface area. Based on

the information given in the table above, explain how such a feature is

beneficial to the plants.

)

25




35: . Mangrove trees are found in:muddy: :swamps. They. have spec:al roots
that enable them to survive in the Swamps Which most : spectes of ~
plants are unable to do so.

mangrove
tree

roots

- i’huddy soil

(a) The mangrove trees have roots as shown in the diqgiam above. These
roots are unable to take in"6Xygen or release carbon dioxide. How do
the roots. hetp the tre€s 6. Survive In: such an; enwronment‘> T 1]

(b)  Another adaplive feature of the mangrove -trees is observed in the
way in which it reproduces. Unlike other plants, the seeds of the
mangroves start to grow into a young plant while they are still attached
to the parent plant as shown in the diagram below.

parent plant

‘T— young pilant

26



once they. are- adepostted m» an area: where condmons ﬁ growth are
_sﬂrtabie. The proces:? 1s_shown inthediagram:below::

_ 3
Young 1i-llaz'nt d rop; s " Young plant reaches area
from p a&en’tﬁ]‘émiﬂ- : avith suitable conditions for
R . growth
. | —

Yolang plant grows roots and shoots

4

Based on the infogn’gtjgg ‘provided, state 2 ways in which the feature
described abové ificteases’thie-chances of survwa1 of "the young of the

mangrove tree.. . ) , [2]

®

(ii)

27



236,

@)

(b)

ant

' The:caterpillar of.Butterfly Xusuaﬂy -aftracls apis:to:feed 'on a sweet
- substance: that is. released by a:spegiakgland :on:its hody~The-ants

tend to- ﬁght -off- iother insects:such as-wasps that try to
come near ttie’ caterplllar to  fay it rts eggs in the body of the caterpillar”

caterpillar of
Butterfly X

flower

.. o f,-‘- o, s i twes © -
-0 R .x:'f.\n.-' e

What structural adaptatlon does the: caterplllar, have ta escape from its

predators? T e Al

How does the catemillar and the anf each benefit from this
relationship? M

28



(c) - “limthe space provided below; dravwa graph to:show how thie number of
caterpillars ‘changes ‘overtime a*s*the number of ants” changes.

Number of
organisms

- e o= : {1}

Legend:;:'
caterpillars:

Time

(d) Based only on the information prowded ifa dxsease struck and kllled
most of the ants, how would this affect the caterplllars? i 1]

29 1



- 37

@

(b)

A group.of enwrgnmentahsl.dxd a survey on the amount of pollution in -
- a pamcuiar town. A ‘map -of:the town-is shown:below... -

-
==n.. ) gn.-
o ::
88|
Town Y
1
Key: Factory Z
| —— Direction of current flow | |
. g oo LTy Caaths -.-.“1
|

They wanted to find 6&1 how much of the _gjﬁﬁinn_aﬂhe_'ver was due
directly-te Factory. Z. At which 2 spo _s_sbouldihey&oilect water

samples? . _ M

-

If the factory was polluting the waters, suggests a suitable position for
a treatment plant. Indicate this by putting a “X” in the diagram above.

(1

30




- The ehwronmenfahgts wanted tofind ‘out whether: m_Mr affécts

the: rate of phiotosynthiesisdn: aquatlo-plaﬁ{s’ EODmtofwr from
_ |ocat:ens,13nd 4, was ‘collected: They:we “in: a-beaker with

" similar aquatic’ plant§ and ithe setrupwas placed under difect sunlight.

sunlight sunlight

— test tube .

Ty
Vil /.

— “testtube

- = conical flask =7 conical flask
beaker —|= e . beaker —| =) \: _
= =t hydrlila - = hydrilla
stopper
Water from location 2 . Watér from location 4

~The number-of 0xygen.bubbles, given out by-the plants.over a period of
- 5 minutes was- counted A graph wasjatted from the-results.

The graph for Locatlon 2is shown beiow

4
w
(0]
a .
£ T e
3 chatlon 2
Ks)
o
O
15
=3
zZ .
0 . _ 5 Time / min
(c) Draw a line graph for Location 4 on the samt__eygraph. ' {1

——

(d) Explain the effect of murky water on the réiee£photo§ynthesis. 1

Ky




38.. .-

. -Fourmagnets:E,.F,.G and H were:tested for their strength ‘A needle

- was-slowly:pushed fowards:each magnet until it:was attracted by the

(b)

(c)

magnet as shown in the diagrambelow. The distance from which the

~magnet-attracted: thineedle--is. called the pullingdistance —.

Wit didmdwdiodng— aer

o,

‘magnet, “feL—— "
—I'-" puling  needfe
distance " 7"

The table below shows the pulling distance of the four magnets.

Magnet- | Pulling distance'/icm
E R
F 3
TG 8
- - - H 2 -
. Basédonithg: data in thie table;itwas noticed that the néedle was

afttacted toothe magnetbefore theé rhagnet.caime mto ‘contact with it.
What can we conclude about the magnetic force?” 1]

Which magne_t_Ls_Le strongest? Give a reason to support your
answer. {1]

In the boxes given below, arrange the, magnets E F GandH

according to their strength from the strongesfto the weakest. [1]
' Strongest ' Weakest
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89.  Toiri-bought seme:hot plainburiswhich were placed-in an:enclosed

i . - styrofoamibaxas:showninthexdiagram below {sideview). When he

. .. opened:the:styrofoam box athome!fifteen mindtesTatershe found that
- fhere weres waterdropiets onﬁth;eiqp mner’surface;of the. box.

\.\.f

water droplets

» } styrofoam box

. ' (stde view)
hotbun_ -

(@) - 'Explam clearly where thésé. water dropiéts had 1 coime. from 2]

./-

(b) | The nextday, Tom bought snmnar buns from the same hawker. He
observed that the hawker ptaced a piece of paper over the buns. Give
aréasonito explaip.why the hawker did this.. .. - - 11
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40 ..

@)

(b)

~Anne:wanted: to'find out: Wthh ma erial:

“through::She 'setup: the ex§
.- openssideof .aidarkeried:

- Shownbelow. Shi ‘She recorded. theramount of light detected: by the fight

2 mostdight to pass
. : w. She'covered the
ox, With: dtﬁerentmatenais each nme > as

sensor.
qéq; . material
powerful torch
light
sensor
N 1

She repeated the experiment using matesials B and C.of the same
thlckness as matenal A. The table below shows her results.

Maten‘als Ltght detected by !lght sensor I umt

T LiBe s | - - 2.40
A A PR T SR .M20

Give a reason why the thickness of materials:A, B and € should be the

same. . T

Anne works the nightshitt. When she returns hotiie after work in the
mor_nir"ig,,-she wants to.make herenvironment contiteiye for sleep.

Which material, A, B or C, should she use for the wmdgws? Give a
reason for your answer. [1]
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" 41.  Steve wanted tedtest the: prooemesﬁfma terand air..He set up'the
experiment as shown below in the Science laboratory He placed 2

balioons of the same type, one completely filled with air only_ and the
othher completely filled with water and placed them over a candle f flame.

He lit the candle and observed what happened.

Sé't-up A Set-'_up B

balloon »balloon filled
completely completely
“ﬁI[ed with air - “ ywith water

candle

S N
et i B T ¢

He recorded the trme taken for the balloon to pop'in the table below.

Set—;,rp ” Time takenfor batigon to pop I sec
B NETOR
'(a) What can you conclude about the property of water based on the
experiment above? - : _ o (1}

(b) -

(- State a vaﬁa‘ble that he must keeb constant to conduct a fair test. [1]
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- 42, . Ravi setupithe experimentas showa beiow. .

o g R k ST

s+:metal plates

.-égawa?er

gresh\&at T ”

'II’II’II’I’IIIII’III’II I Bttt bl bbbl dddidld b dd ildldlddlidldd

SetupA 7 _ .'I Set-up B
) 'Raw:?i“obs‘erved-what"happenedf-when-'-fhe‘-suﬁtch"was-'-closed. He
recorded his observations in the table below.
VIR v B R A SR T £ s A L B TE e

Liquid

o e Liquid | Nichrome wire - |
17 “Freshwater ™~ ] Glows
. Seawater . Glows hotand red

(a) What could Ravi conclude about the twa liquids?, [

(b)  Raviread that electric edlscan be found in hioth frse
water. They kil their prey by electrocuting them.

Based on his obsenvations in part ka), what would be the difference in
the time.taken for the seawater eel and freshwater eel to kil theirprey?
{1




' 43.  -The diagram:below rshdws-'é‘rouhd-glass ‘bowl: Atennis ball was held
at P. AU

L m——T N
77777 /s'_,_‘f/ 77 T 2 7

(a) The ball was releaséd énd‘lt*roﬂed down. Predict where the ball would
roll to when it was i’eleé:é_jédf Explain clearly the reason for your
L p_ré__d.i,c,ﬁ_oﬁ-,a B N 7 S VR T RO SRR R T L S [2]

"(b).  Whatwould be the effect of replacing  bailwith a glass:ball?
ive a reason for your-answer. ' _ 1]
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‘44, Adhairdryer was used toblow a balloon to keep #t suspended in the air
as shown below. '

- -

balloon

hairdryer

The height.of balloon from ‘the‘ground was-measured and the results
were recorded in the table below.

He*rght of balloon /cm It - o 3

- L Average
Speed of hair dryer Ty ﬁreading ‘réading-| reading | reading
Low ¥ B ,cssh . ‘3&4 32 33
Medium 42 40 44 | 42
‘High. - . .57 50. .55 54
(a) What is the relationship between the speed of the hair dryer and the
- height of the balloon? I
(b)  What force/s is / are acting on the balloon? ' ' (1]
(c) When the balloon is blown at low speed for 4 minutes, it bursts.
Explain ctearly why this happens. {1
- End of Paper -
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Answer

EXAM PAPER 2011

SCHOOL : CATHOLIC HIGH
SUBJECT : PRIMARY 6 SCIENCE

TERM : PRELIMINARY

QL[ Q2 Q3| 0Q4105]| Q6|07 Q8| Q9 [Q10{0Q11]012{013[(0Q14|Q15]|Q16

Qi7

3 4 4 2 3 4 2 2 1 4 4 3 1 1 2 2

0181 0190201021 1022[ Q23] 024 | Q25 [ @26 [ 027 928 [ Q29 [ Q30

1 1 4 | -2 4 4 2 1 3 2 3 2 1

31)a)The function of part P is to keep the plant straight as it grows upwards
b)Part Q has a bright colour.

32)a)X>darkblue  Y->darkblue  Z->brown A
b)This is to present the release of carbon dioxide as a result respiration from the
living organisms in the soil into the air within the bell jar.

33)a)Q->Seeds dispersed by splitting R->Seeds dispersed by water.

b)The wing-like struacture of the fruit enables it to be dispersed by wind.

¢)The wing-like structure increases the exposed surface area of the fruit thus
increasing the time the fruit stays in the air so when there is wind agam, the seed
will continue to move in the direction of the wind.

34)a)The larger the surface area of the leaves, the higher the rate of water loss.

b)With leaves of a smaller surface area, the rate of water loss slower compared to
leaves of a larger surface area as the leaves are smaller, it prevents the plants from
loosing water too quickly. - e

35)a)To cling to the soil and stand upright.
b)i)The chances of survival are higher as the seed has germinated and developed
into a young plant before being dispersed away from its parent plant.
ii)It is grown away from the parent plants, aillowing it to grow heal their W|thout
any competition.

36)a)lt uses its body colour to blend in with the surroundings/camouflage with the
- colour.of leaves.
b)The caterpillar is protected by the ant and the ant obtains its food from the

caterpillar.

C) A

4



Answer Key


36)d)The caterpillars would be more prone to attacks from the wasps as there one
fewer ants to protect them.

37)a)Spots 1 and 3
b)

Lacation 2

Ly cafon L(»

A .
>

d)The murky water perverts sunlight/allows less light from reaching the plant so
it cannot photosynthesis as well as the plant in water from location.

38)a)Magnetic force can act at a distance.

b)Magnet G. In the experiment, magnet G is able to pull the needle from a pulling
distance of 8cm which is the further rest compared to the other magnets.

C¢)GEFH
39)a)The hot bun had warmed up the air in the box. The hot water vapour comes in
contact with the cool inner surface of the Styrofoam box loses heat and condenses
into water droplets.

b)Prevent the water droplets from collecting on the bun.

40)a)The thickness of the material may affect the amount of light detected by the
light sensor,

b)She should use material A as it allows the least amount of light through
keeping her room dark.



41)a)Water is a better conductor of heat than air. Water take a longer time to expand.
b)The balloon with water takes a longer time to pop. The heat from the candle
flame is transferred to the balloon.The water in the balloon conducts heat faster than
air so the heat is transferred away from the balloon.
c)Volume of air and water must be kept the same,

42)a)Seawater is a better conductor of heat than freshwater.

b)The seawater eel will be able to kill its prey much faster compared to the
freshwater eel as shown in the experiment above, seawater is a better conductor of
electricity compared to freshwater.

43)a)It will roll to R, beyond R but not S. The ball has gravitational potential energy
at P which would be converted to kinetic energy. Since some energy would be
converted to sound and heat energy, the ball would not reach the same height.

b)The glass ball will roll to a higher height then the tennis ball as the glass ball is
smoother compared to the tennis ball, reducing the friction between the glass ball
and the round glass bowl! allowing it to reach a higher height.

44)a)The higher the speed of the hair dryer, the higher the height of the balloon.
_b)Gravitationa! force and frictional force.
c©)The hair dryer blows out hot air so when the air in the balloon is heated, the air
expands and after a while causes the balloon to burst. )





